www.das-bastelteam.de ->Ldsungen: Teilermenge Blatt Nr.:502
Zahl geht max. bis 100.

Tos = {1,2,47,94}

Tg; = {1,97}

Tes = {1,2,4,17,34,68}

Tg7 = {1,3,29,87}

Teo = {1,2,4,5,8, 10, 16, 20, 40, 80 }
T = {1,3,5,15,25,75}

Ts = {1,2,4,5,8,10, 20,40}

Tso = {1,2,4,13,26,52}

Tes = {1,2,3,4,6,8,12, 16, 24, 32, 48, 96 }
T = {1,2,4,7,8,14, 28,56}

Tes = {1,5,17,85}

T = {1,79}

Tes = {1,2, 43,86}

Tog = {1,3,9,11,33,99}

Tis = {1,2,3,6,9,18}

Tsa = {1,41})

Tsg = {1,2,19, 38}

Ty = {1,31}

Tg = {1,2,4,8)}

Teo = {1,2,3,4,5,6, 10, 12, 15, 20, 30, 60 }
Tos = {1,23}

Tog = {1,2,7,14,49,98}
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